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(1) wf 5T It &

@) 7 B 1§ 5 9% 30 IGhY 7w & T § Gel Adey 08 3B, Rer Wik 06 A7,
HT—HGT 06 JF, TS TS 06 JF VG U T/ TaT ¥ I 06 JF Gaeht 797 &/

(3) F¥T #WF 6 § 23 aF o yaNks faEey v 77 &/

(4) 75 FHE 6 B 17 TF 5T JeT P o7 2 FE R &1 T i T 30 Ve 8

() T¥ FHE 18 T 20 7F FAF §I7 @ [or 3 97w iR & T W T 75 e B

() T BT 21 @ 23 TF AAF FE7 & o7 4 & (EiRa &1 7 #77 FT 120 9 &/

(7) ¥ FWE 23 § ANG @ FAGT YT IIRT FET & TAAT & T0EY GO% gieadr § dorr
G/l

- Instructions - ' -

(1) All questions are compulsory.

(2) Question numbers 1 to 5 are 30 objective questions. Out of these, questions
related to correct option 06 marks, blank space 06 marks, true/false 06 marks,
correct pair 06 marks and answer in one word/sentence 06 marks.

(3) Internal option are given in question number 6 to 23.

(4) Question Number 6 to 17 carries 2 marks for each question. The word limit is

approximately 30 words.
(5) Question Number 18 to 20 carries 3 marks for each question. The word limit is

approximately 75 words.
(6) Question Number 21 to 23 carrles 4 marks for each question. The word limit is

approximately 120 words.
(7) Question Number 23 is a question based on the map of India. Fill out the map and

attach it to the answer sheet.

i
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51 98 %o gex fafan - (/1=
(I) & a1 5 T R gaw 78 o &7 -

(&) oY @ woa
(%) BRrTe @ g
() TEi e @1 wdea fraw & -
(&) TRy @ wEEAR
(§) DT (@) G
() Rl et awee frag 359 @ w9g 4 Reod 27
@) ue (@ feh
(W) o< () uf¥em qma
(IV) “Ra ¥ AR &1 o Praferiad § 9 @9 8 &7
@) wWIIREA @) oF @ oA H
(®) o @ w A (3) o & W A |
(V) ?ﬁam%ﬁmw%m,wmwétmﬁw
(1) ommEw fofe= (@ frex affd
(@) A (@) TR
(VI) wreira @ gren aifefem o9 wile fomn war?
(@) 2012 @ 2013
(|§) 2014 (@ 2015

Choose and write the correct option -
() The Tropic and Cancer do not pass through -

(a) Rajasthan (b) Odisha
(c) Chhattisgarh y (d) Tripura
(I} The highest peak in the Eastern Ghat is -
(a) Anamudi (b) Mahendragiri
(c) Kanchenjunga (d) Khase
(1) In which of the following state is the Simlipal bio-reserve located?
(a) Punjab (b) Delhi
(c) Odisha (d) West Bengal
(IV) Monsoon arrives in India approximately in -
(a) Early May (b) Early June
(c) Early July (d) Early August

(V) ‘Democracy is the rule of people, by the people, for the people’, the
above statement is -

(a) Abraham Lincoln {(b) Mr. Churchil

(c} Laski (d) Prof. Garner
(V) When was the Indian Food Security Act passed?

(a) 2012 (b) 2013

(c) 2014 (d) 2015
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v2 Red ®IF & qff sifem -

(1) FRT vttt s Targ ¥ Rerg 2
() 2011 & ST & FHR HRA BT AT T o B |

Fill in the blanks -

(1) India lying entirely INthe........ ... ccrniae e,
() According to 2011 Census the population density of India is........
(1) ‘The Social Contract' is Wrtten by ... ...cccrivreeeeccinneiiiecaeaeean,
(IV) Name of HItler's DOOK. ........uvveveeiee e veeeesicresee e e v e
(V) Bastaris situatedinthe ............. R e state of India.

(V) The Lower House of the Parliament is called

----------------------------

93 W S e fafag -
s @) e (3)
() wEif® Sdem ae ws (@) 28 S, 1919
() zaa a5 GR o (@) wfura
(i) <9 &1 gareg SrEA . (7) ST
(IV) & |H 9 @l . (=) 100
V) o B I (§) =R

(Vh IR TRE AN A i Raw (@) dRW

Match the columns and write correct pair -

Column (A) Column (B)
() ~ The most populous state (a) 28 June, 1919
(Il) Treaty of Versailies ~(b) Constitution
() Supreme Law of the Country ~ (c) Uttar Pradesh
(IV) Aung SanSuukyi - (d) 100
(V) Land measuring unit o {e) Myanmar
(V) Working days in Employment (f) Hectares

Guarantee Scheme
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9.4

H5

Tl AW I fofan —

() R R FAF gaT B 2

() o 91 F1et & go arelr T EAY B

(I} w8 % BY framt @ s Fer o €|
(IV) WRa & eifeder o 8 B |

(V) remyR i @ gRaRi 3§ 450 o |
(VI) T7e1 &1 afepler g @Y T & PRV FIH AT
Write frue or false -

() Bangar is old alluvial soil.

(J-I'f Loo is hot wind that blows in summer.
(R) Small farmers in Russia were called kulak.

(IW! India is not a secular state.
(Vf ‘The number of families of Palampur village was 450.

(VI} The Bengal famine was caused by shortage of wheat.

UF I AT U qied H I feify —

(I) fReeR & I[wraR 9 Yo &7 F41 AH AqT?
(Il) ifafees & @l o o4?

() IR s Far 87

(IV) Tgfag waa gomed @r 87

(V) w=ex 59 @ed &7

(V) 9= e 71 87

Write the answer in the word or sentence -

() What was the name of Hitler's spy state police?
(1)  Who was the author of ‘Politics’?

() What is the Code of Conduct?

(IV) What is multiple cropping system?

(V) What is birth rate? |

(V1) What is Buffer Stock?

(ex1=e)

(6X1=6)
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.6

u.7

9.8

4.8

9.10

IRTael! 3R g o TRt § eFEr ToR Rerd 27

Which plateau is situated in the Aravalli and Vindhyachal Hills?
serar/OR

IR 31 &3wa fpeer 82

What is the area of India?

WRA F 9 € @ AW gy @ v ARy @ )

Name the Island group of India having Coral Origin.

Jyai/OR
CICEaC T
What is the Bhabar?
TR 1 aREre 7@ 27
What is Namami Gange Project?
Jerar/OR
Riy T4 T T et @ Fraed 27
Where do the Indus and Ganga riv;fers originate?
FIRaNfere 9a &8 Fa &7
What is Coriolis force?
Ferar/ OR
Rd A BN E Jeary Ul @R 8?
Which climate is found in India?
3 e f @e &7
What is called forest destruction?

sear/OR
el grewl @ W ot | (@ 2)

Write the name of medicinal plants. (Any 2)

@)

)

@)
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Ui

".12

W13

.14

9.15

WA | w1 aant ¥
What is meant by Census?
s /OR
S Aerl &3 N GEERar v AfE B9 @ & SR T |

Two reasons for the high population density in the northern plains.

frefea @ ar?
What was the guillotine?
syar/OR
TMEE Fq7 oa1?
What was the taid?
AP gR e Hiy B A Rada fafg)
Write two changes in the October Revolution by Bolsheviko.
seEr/OR
S T 87
What is duma?
wiY 5 Fed 27
What is called sleeper?
3ear/OR
denfae @i w1 27
What is scientific forestry?
wfd w7 87
What is Constitution?
3rmar/OR
WRAIG W Be A g3 or?

When did the Indian Constitution came into force?

@)

(2)
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116 SR WA g

What is the Code of Conduct?

Jqr/OR

T I e
What are Genera| Election?
BT SRPR 7 4
What is Rights?
Jua/OR

AT 7 22

~ What is Democracy?

| SABR AR ST B e e i vt 9
Why did the shepherd live near the forest?
| ST/ OR

- I fove ¥ wRawel ¥ agondl o w3 R |

How pastorali'sts cope with changes in the Modern World?
B9 Ada B dwart fafen |

Write characteristics of democracy.
| 3@ /OR
SAbds JEAR AT el adf 27 Fammgy
Why Democratic Government is a better Government? Explain.
w20 e T AR i fvar o sfov fofgw |
 Write the dih‘erence between economic and non-economic activities

e/ OR
g Toft A e o fer faleg

Write the role of education in Human Capital,

(3)
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Y21 B S DI AEYTHA T4 B B? FwET | @)
Explain, why we need parliament?
yerar/OR
ToadH T @) R BT e adl $E1 Wl 8
Why is the Supreme Court called the Guardian of the Constitution?
N22 ISR T AR TRE TrerT, 2005 B e e @)

What are the main features of the National Rural Employment

Guarantee Program, 20057
giea1 /OR
Priar @ g8 9 @ Iurg ARy |
- Write measures to remove poverty.
723 ARG B #EfE i FefaRaa Bt sy - @)
) T @ @A |
@ @ @ (€) ®Ie 9gR Bl TR
Show the following on the outline map of India -

(@) Narmada river (b) Bay of Bengal
(c) Tropic of Cancer (d) Chhota Nagpur plateau

3rar/OR
mﬁiﬁnmﬁaﬁﬁﬁ%ﬁaﬁaﬁmu
() werE @) ur govere

(@) "e@ @ TR (8) GO dH I
Show the following on the outline map of India -

(a) Mahanadi (b) Indian Desert
(c) Plateau of Malwa (d} Sunderban Delta
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